SuQDS * 52 SoLoTions

N (wI5-U3) « (5B-73)

T+ (G-

.
5-Jis+yis—3

= 23-505
=8
2) (37 +553) « (J7-53) 3 | x (a-i)
(JT+03)  (F-53 (a+J7)  @-07)
= 21 =3J20 + SJ21 -5 - -7
7-J21+020 - 3 a=-ah +ad1-71
= Q) 4-255-( = a —VG
+. a*-1
- 3+ vz
2
r+> I x CZ 1‘—3_6:) 5) ™ (3‘5’;)
(2-da)  (24Va) (3+Vb)  (3-Ub)
- fa+ia - 3a-alb
4+ 208 -2va - & 9-3J6 +3Jb - b
- A+ila - 3a-alb
4 -a 4-b

&) (p+253) (5 +)
() @

= pl3+p+6 +23
3+03-3 —I
= (ﬁ’pfp 23 + 6

4
2

(P+DV3 + p+b
2,




V2

= R/3 + kg _3";:;—
V2

Vo

E "
= 8B & 205 - 303
= 55- + ZCL:?’
= (D +flq/>'v\5

3) (V= +2) - (V= -2)

x +4+4Jx - an+4“““’-‘]

= x t4 +4Jx -z -k F4Ux

- Six

) (3-9- (5+3)
= yta-6Jy - [j*Q+é‘§J
= 4+ -bJg ~y-9 -6y
= -ialy
16) e
T 3) - (Ve-3)°
A

24V E
E+‘f .i.é-\ﬁ; - Lt +9 “‘éur(;J

- le.\,E_E
t+a+b0t —E-Q+6J¢




